HOOVER DAM STAINLESS PIPE, FITTINGS & ASSOCIATED MATERIALS LIST.
ALL MATERIALS ARE TO BE EXACT OR BETTER: 
PIPE & FITTINGS: TP 304/304L ASTM A312/ ASME SA 312 STAINLESS STEEL.ALL PIPE WELDED SEAM. FLANGES: SA 182/182M B16.5 F304/304L. BOLTING MATERIALS: ASTM A-193 (B8M) & ASTM A-194(B8). HILTI ANCHOR BOLTS ARE 316 S.S.; ONLY CARBON STEEL PRESENT IN THIS REQUEST IS ATOM ARC 7018 WELDING ROD.
Item                Quantity          Description

1.                    4 ea.               6”-400# RF Blind Flg. TP 304L S.S.

2.                    2 ea.               2 ½”-300# RFWN STD. FLG. TP 304L S.S.

3.                    2 ea.               2 ½” 45º Ell. STD, BW LR, TP 304L S.S.

4.                  10 ea.               3”- 300# RFWN STD. FLGS. TP 304L S.S.

5.                  12 ea.               6”- 300# RFWN STD. FLGS. TP 304L S.S.

6.                  12 ea.               3” 90º ELL. SCH. 40 LR, BW, TP 304L

7.                    6 ea.               3” 45º ELL. SCH. 40 LR, BW, TP 304L

8.                    2 ea.               3” X 2 ½” Reducing Tee, Sch. 40, BW, TP 304L
9.                  14 ea.               6” 90º ELL. SCH. 40 LR, BW, TP 304L

10.                  6 ea.               6” 90º ELL. SCH. 20 LR, BW, TP 304L
11.                10 ea.               6” 45º ELL. SCH. 40 LR, BW, TP 304L                  

12.                  6 ea.               6” 45º ELL SCH. 20 LR, BW, TP 304L
13.                12 ea.               6”-150# RFWN Std. FLGS. TP 304L S.S.
14.                  4 ea.               6”-150# MSS LAP JOINT FLG.TP 304L

15.                  8 ea.               6” Sch.40 Lap Joint Stub End Long Type “B” MSS TP 304L
16.                  4 ea.               4” Sch.40, Lap Joint Stub End Long Type “B” MSS TP304L  

17.                  2 ea.               6” X 3” Concentric Reducer Std. BW, TP 304L
18.                  2 ea.                  8” X 4” Concentric Reducer Std. BW, TP304L
19.                  80 LF                3” SCH. 40 TP304/TP304L ASTM A312 PIPE

20.                140 LF                6” SCH. 40 TP304/TP304L ASTM A312 PIPE

21.                  60 LF                6” SCH. 20 TP304/TP304L ASTM A312 PIPE

22.                  20 LF                8” SCH. 40 TP304/304L ASTM A312 PIPE
23.                  20 LF                8” SCH. 20 TP304/304L ASTM A312 PIPE

          STRUCTURAL SUPPORT MATERIAL STAINLESS STEEL
24.                  20 LF               ¼” X 3” BAR STOCK TP304L STAINLESS STEEL

25.                200 LF               ½” X 2 ¼” BAR STOCK TP304L STAINLESS STEEL
26.                  20 LF               3/8” X 8” BAR STOCK TP304L STAINLESS STEEL 
27.                  80 LF               6”X 3.33”X .359   14.90 Wt. per/Ft. S.S. I Beam

28.                  80 LF               3” X 3” X ¼” TP304L TEE STAINLESS STEEL

29.                240 LF               ¼” X 3’ X 3” TP304L ANGLE

30.                240 LF               7/8” TP304L ROUND STOCK STAINLESS STEEL

             FIBERGLASS GRATING MOLDED (Architectural Grade Resin)
31.                   6 ea.                MS S-200 2” 4’ X 12’ SFF Green Panels
32.               100 ea.                Type J 2” Grating Fasteners 316 Stainless Steel 

33.               100 ea.                Type M 2” Grating Fasteners 316 Stainless Steel

                      (McNichols Co. Fiberglass Catalog (FG07) Pgs. 4 & 19) – or EQUAL
.
34.                 16 ea.                 3”, Light Three Bolt Pipe Clamp, 304L S.S. 
35.                 16 ea.                 6”, Light Three Bolt Pipe Clamp, 304L S.S.

36.                 16 ea.                 8”, Light Three Bolt Pipe Clamp, 304L S.S.

37.                 16 ea.               10”, Light Three Bolt Pipe Clamp, 304L S.S.   
38.                150 ea.              ½”-13 X 3 ¾” HILTI ANCHOR BODY BOLTS 316 S.S.

                                                                      Or EQUAL

39.                200 ea.            5/8”-11 X 4 ¾” HILTI ANCHOR BODY BOLTS 316 S.S.

                                                                      Or EQUAL                                                                     
         A 193 B8M CL.2       FULL THREAD STAINLESS STEEL STUD BOLTS
40.                  80 ea.                5/8”- 11 X 3 ½” 316 S.S. STUD BOLTS

41.                128 ea.                ¾”- 10 X 4” 316 S.S. STUD BOLTS

42.                128 ea.                ¾”- 10 X 4 ¼” 316 S.S. STUD BOLTS

43.                  48 ea.                ¾”- 10 X 4 ½” 316 S.S. STUD BOLTS

44.                  48 ea.                ¾”- 10 X 4 ¾” 316 S.S. STUD BOLTS

45.                  82 ea.                7/8”-9 X 6”      316 S.S. STUD BOLTS
46.              1200 ea.          5/8”- 11 XH, NUTS 304 S.S. 1 1/16” Across the Flats 

47.              1000 ea.          ¾”- 10 XH HEX NUTS 304 SS 1 ¼” Across the Flats
48.                160 ea.          7/8”-9 XH HEX NUTS 304 SS 1 7/16” Across the Flats 
                       SOCKET WELD FITTINGS: STAINLESS STEEL
49.                  12 ea.         3”-150# RF Socket Weld Flgs. TP 304L S.S.

50.                  12 ea.       12-8 X ¾” 3M (3000#) Thread-O-Let SA 182 F304/304L
51.                  40 ea.       ¾” 90º ELL. 3M (3000#) SA 182 F304/304L

52.                  24 ea.       ¾” STRAIGHT TEES 3M (3000#) SA 182 F304/304L

53.                  32 ea.       ¾” 45º ELL. 3M (3000#) SA 182 F304/304L
                            JBS  SWAGE NIPPLES 304/304L STAINLESS STEEL
54.                   8 ea.        ¾” Plain End X ½” NPS Thrd. Sch. 40 304/304L Swage Nipple

55.                   8 ea.        ¾” Plain End X 3/8” NPS Thrd. Sch. 40 304/304L Swage Nipple
                           SWAGELOK SUPPORT KIT MOUNTING SYSTEM

                                                        Or EQUAL 
56.                  50 ea.        3/8” Tube 304-S1-PP-6T Support System w/strut nuts

57.                100 ea.       S-SO-SN STRUT NUTS (Strut Rail Mounting System)

58.                  50 ea.         Weld Plate (Elongated) 304-S1-WPE

59.                  10 ea.        SS-600-7-4  3/8” Tube to ¼” NPT Female Connector
60.                  10 ea.       SS-600-1-4  3/8” Tube to ¼” NPT Male Connector

61.                  10 ea.        SS-600-1-6  3/8” Tube to 3/8” NPT  Male Connector

62.                  10 ea.       SS-600-6  3/8” Tube Union

                                    STAINLESS STEEL TUBING 304/304L 
63.              40 LF     3/8” OD 304 Stainless Steel .035 Wall Tubing TP SA 304/304L 312
                                     FLANGE INSULATING GASKET KITS

64.                    4 ea.       6”- 300#  Flange Insulating Gasket Kit

65.                    4 ea.     10”- 150# Flange Insulating Gasket Kit

            WELDING ROD: STAINLESS STEEL & CARBON STEEL
                 Exactly as specified below, NO SUBSTITUTIONS !
66.                 224 Lbs. TRADE NAME: ARCALOY 308L PLUS 
                                     ROD TYPE: PLUS 308L-17      ROD SIZE: 3/32” X 12”

                                     PACKAGING: 8LB. Pull Tab Vacuum Sealed Metal Cans

                                     Specifications: AWS A5.4 E308/308L-17
                                                              ASME SFA 5.4 E308/308L-17

                                                              Certified by C.W.B. CSA W48-01 E308/308L
67.                160 Lbs. TRADE NAME: ARCALOY 308L PLUS
                                     ROD TYPE: PLUS 308L-17      ROD SIZE: 1/8” X 14”

                                     PACKAGING: 8LB. Pull Tab Vacuum Sealed Metal Cans

                                     Specifications: AWS A5.4 E308/308L-17

                                                              ASME SFA 5.4 E308/308L-17

                                                              Certified by C.W.B. CSA W48-01 E308/308L
                                                     VALVES : GLOBE & BALL
68.              8 ea.    ¼” 316 Stainless Steel Ball valve Blow Out Proof Part No. 76-101-27             
                                APOLLO 2 pc. Ball Valves – or EQUAL
69.              8 ea.   3/8” 316 Stainless Steel Ball valve Blow Out Proof Part No. 76-102-27              
                             APOLLO 2 pc. Ball Valves – or EQUAL
70.            24 ea.     ½” 316 Stainless Steel Ball valve Blow Out Proof Part No. 76-102-27              
                              APOLLO  2 pc. Valves – or EQUAL
71.                    1 ea.                3”-300# Globe Valve Stainless Steel Fig. 2475

                                               (AZ. Plug Sump Jet Pump Throttle Valve)
72.                    1 ea.                6” -300# Globe Valve Stainless Steel Fig. 2629

                                               (NV. Plug Sump Jet Pump Throttle Valve)

[image: image1.emf]                                         
PAGE  
1

